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Was ist die richtige Losung? (plus Zahlen bis 100)

Plusrechnen

4 F9+5= 5 942 +1= 6. 592 +10=
621 +3 = & 518 +10= 9. 483 +0=
10.564+1= 11.655+2= 2616 +1=
13504 + 4= 14644 +9 = 5. 798 +2=
6. 98F+1= 172295+ 1= 18.852+7F=
19.941+5= 0 628+9= 21991 +6=
2261 +10= 3541 +5= 42 351+6=
5529 +8= 2% 654 +F= 7. 213 +1=
8.644+0= 9. 221+9= 20433 +10=
31.610+9= 3225/8+2= 33265+10=
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Was ist die richtige Lsung? (plus Zahlen bis 100) | ANTWORTEN * KK

Plusrechnen

10.564 +1= 565 |, 55 +2= 657 ; 616+ 1= 617
15504 + 4 =508 |, 644 +9 =653 5 758 +2= 760
5. 587 +1= 588 ; 295+ 1= 296 5 852+ 7= 859
19.941+5= 946  , 628+ 9= 637 , 951+ 6= 957
2261 +10= 271 ;3 541 +5= 546 ,, 351+ 6= 357
5. 529 + 8= 537 4, 654 +F= 661 ,; 213+ 1= 214
25 644 + 0= 644 5 221+9= 230 5433 + 10 =443
51.610+9= 619 5, 578 +2= 580 35265+ 10 = 275
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